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A gt

M 22FYRUMAH 2H(BAH/2AH2F)

ol 2 RIR| ALY (12l M2
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
()00l =2l XZH| 12,000 15,600 A3,600

| 6,000
T 1,800
Al 4,200
301 LetEHZ 12,000 15,600 A3,600
| 6,000
T 1,800
Al 4,200
01 AISIBE X LGS (2 LETME) 12,000 15,600 A3,600
Ollol= &zHl XI&
12,000,000 * 14! 12,000
| 6,000
T 1,800
Al 4,200
(Z)BHAASH2AL| AL (AFRH]) 29,436 28,325 1,111
| 14,718
& 4,415
Al 10,303
201 B2 AL 1,000 2,000 A1,000
| 500
& 150
Al 350
01 At=R2teld| 1,000 2,000 A1,000
o288 72 &£ N&
1,000,000& 15 1,000
| 500
& 150
Al 350
307 212+01™ 28,436 26,325 2,111
| 14,218
& 4,265
Al 9,953
01 22 & 35| 28,436 26,325 2,11
OLMOIBEAL S 13,000, 0002 % 14! 3,000
J| 6,500
= 1,950
Al 4,550
OIIEBEEXEZA S 1,694,000 *14] 1,6%
J| 847
= 254
Al 593
OFUAHES Zdh & FEFsHZ e
3,742,000 *14] 13,742
J| 6,871




FA Zggaeln
Zo: AARBAM N AH(2A/2AI2)
Rl ZSYAACIAE (CHe) &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 2,061
Al 4,810
(F)2ALZ SR A (A2 HYI) 77,692 37,714 39,978
Jl 38,846
Al 38,846
101 @1A4H| 77,692 37,714 39,978
Jl 38,846
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04 JIZtN2Z2 XS 2 77,692 37,714 39,978
OZHMLASAI S22
4,208,000& x2& 12 8,416
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50,0002 x2& 12 1,200
7l 600
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OZHTG LS AL 04t
200,000& «2H*12& 4,800
) 2,400
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OZHTE2USAI AL EE
300,000 2« 122 7,200
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OZNGUSA A0S (EESF)
0003 2 »23] 1,600
) 800
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Oou=Hl 80,0002 x2H 4%} 640
7l 320
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(2)ZST 2A 2 ST 13,200 10,857 2,343
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< 1,980
Al 4,620
307 212+01& 13,200 10,857 2,343
= 6,600
=S 1,980
Al 4,620
0122 € =4 13,200 10,857 2,343
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13,200,002 14! 13,200
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Al 4,620
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-2 X0 2RA=)| A
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oYt AR BALK SHLRICH|
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206 =4l 121,100 106,060 15,040
01 M=l 121,100 106,060 15,040
oge S84 5,100
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FA Zggaeln
A ZHG2AMA PA=R(2AH/2A2AR)
Rl HYES A (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
0192 & =4l 64,011 44,800 19,211
O EE 9BARE 7Y
200,000 * 122 2,400
ODNFEZ HYFE WAl 7Y
7,00024 1,000 7,000
OFoE L DB ABZAK WA 7
g 10,8002 %2,0007H 21,600
OFE L DIABT ABZAX 22|
SI|& Al XIS
19,8002 1,002 19,800
OYUAS U HISTF WU WAl Pl
22,0173 +600 13,211
(B)ZZ2LH9 GBS ASAZ 12 Al 292,111 387,264 A95,153
7l 146,005
= 43,817
Al 102,239
307 @120l & 292,111 387,264 N95,153
Il 146,055
= 43,817
Al 102,239
012z & 2=Hl 292,111 387,264 N95,153
OZZLHY G E S ASAZ 12 Al
292,111,000 x 14 292,111
Il 146,055
= 43,817
Al 102,239
(B)UHLEESS=LH 24 28,248 31,926 N\3,678
Jl 14,124
Al 14,124
101 21AH| 28,248 31,926 A3,678
Jl 14,124
Al 14,124
M ORNZZ2NSE S 28,248 31,926 A3,678
OUSEESSEMH 29 28,248
—QIRU(FF+LRE)
80,2403 x 12313 25,116
Jl 12,558
Al 12,558
—4UES 250,000 x1& 128 3,000
Il 1,500
Al 1,500
—OdH 132,000+ 1 132
Il 66
Al 66
(2)=H0LEE AAIBEHAUSULEE) 1,762 1,660 102




SN 2EERRID
A 2HICIMA RE(EA/2H2AR)
SR HYES A (St &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
Il 881
=S 264
Al 617
307 @I2to| & 1,762 1,660 102
Il 881
= 264
Al 617
0122 # /=4 1,762 1,660 102
OBt 4| 2 Ol AL
195, 7203 %9 1,762
Jl 881
= 264
Al 617
(2)=HHSEE S AAI(ORI0I0LEE) 563,478 576,266 N12,788
Jl 281,739
= 84,522
Al 197,217
307 el2to| & 563,478 576,266 N12,788
Il 281,739
< 84,522
Al 197,217
0122 2 /=4 563,478 576,266 A12,788
Ogiztgol BBl X
60,0002 +8,500H 510,000
Il 255,000
< 76,500
Al 178,500
O=A4 QLS o4F 2YY)
26,7393 2,000& 53,478
Il 26,739
= 8,022
Al 18,717
()2 ESLA(KHEHAEPVHEES) 19,304 15,842 3,462
Il 9,652
= 2,8%
Al 6.756
307 212to1d 19,304 15,842 3,462
Il 9,652
[ 2,8%
Al 6,756
0122 2 /=4 19,304 15,842 3,462
Ofg2 =) S| X2
89,9902 »145H 13,049
Il 6,524




SA: 2y
M 2AHALNH RE(BH/BAHAZ)
&2l HgES MY (EEEE))
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
= 1,958
Al 4,567
O=2AL QLS o4F 2YY)
69,5002 *90H 6,255
J| 3,128
= 938
Al 2,189
(2)2IH0LUEE AA(HINEREE) 876,620 822,848 53,772
J| 438,310
= 131,493
Al 306,817
307 21Z2t0| ™ 876,620 822,848 53,772
J| 438,310
= 131,493
Al 306,817
01 92 & 3|=2H| 876,620 822,848 53,772
Ofeel=20|2 83H| XA
19,6102 *27,000H 529,470
J| 264,735
< 79,421
Al 185,314
OHE?2 LS oF 2l
23,048& 2, 000X 46,096
J| 23,048
= 6,914
Al 16,134
OQIZZAR LTS %4E 7YY
10,9542 %26, 500H 290,281
J| 145,141
= 43,542
Al 101,598
ORHULETAE |
16,5732 650 10,773
J| 5,386
= 1,616
Al 3,771
(2)0{2I0] UEZ2ATIUES 103,844 118,570 14,726
J| 51,922
= 15,577
Al 36,345
307 21Z2t0| ™ 103,844 118,570 N14,726
J| 51,922
< 15,577
Al 36,345




SN AEERe| D
Hal: AAHRUMN PH(2A/22102)
SR HYES A (SH9 H2)
SN - B S(BH) - HBAY - BAS 0 &y e HIRS2
01 2z 2 3=H| 103,844 118,570 N14,726
OfIEtol212 BBY| X
19,6102 *4,500H 88,245
J| 44,123
= 13,237
Al 30,885
OBAA HYESE 42 2|
10,954& x1,424H 15,599
Dl 7,79
= 2,340
Al 5,460
(2)SstM(18td) IEZERAT} EEHS 13,851 14,064 A213
J| 6,925
= 2,078
Al 4,848
307 2I2t01 ™ 13,851 14,064 N213
J| 6,925
T 2,078
Al 4,848
01 23 & 3=H| 13,851 14,064 N213
OfIE =) 834l K&
19,6103 *430H 8,433
J| 4,216
T 1,265
Al 2,952
OBAA HYEE 4Z 2|
10, 945@ *495H 5,418
J| 2,709
= 813
Al 1,896
(2)LAROZRUT HSES 4,820 5,220 400
J| 2,410
T 723
Al 1,687
307 S1Zto| A 4,820 5,220 A400
J| 2,410
T 723
Al 1,687
01 2z & 3=H| 4,820 5,220 A400
OfEelz0|2 83H| XA
19,6103 1854 3,628
J| 1,814
= 544
Al 1,270
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2ES A EER-E)
M- B SRASH) - HRAR - B2 of v e HIDE2
OQUERAL} HBES %= P
10,9303 %109 1,192
7l 596
[ 179
Al 417
(S)H&EN HLHE 31,976 35,000 £3,024
= 9,593
Al 22,383
307 el2to| & 31,976 36,000 A3,024
= 9,593
Al 22,383
0122 € /=4 31,976 35,000 A3,024
Oz Z&4|
106,586 300 31,976
< 9,593
Al 22,383
(2)2Z2LH9 Al 20HY] 1,002,472 0 1,002,472
Jl 546,236
< 163,871
Al 382,365
307 elztol & 1,002,472 0 1,002,472
Jl 546,236
=S 163,871
Al 382,365
012z € 2/=H] 1,002,472 0 1,002,472
OZ2LHY9 2Hal 2H|
1,092,472,000& x14] 1,002,472
Jl 546,236
=S 163,871
Al 382,365
SAAZITIHA RF(EAH/22H2T) 1,580,721 665,717 915,004
Jl 685,153
[ 336,844
Al 558,724
o|ofe HE 1,411,293 516,979 8%4,314
Il 683,703
== 333,229
Al 3%4,361
ot 22 & u= 16,893 20,679 A3,786
101 eI124d| 803 789 14
M ORNZZ2NSE S 803 789 14
OgIIZE o 2AHE 2el(He & ME=
g s) =Y 80,2402 1810 803
201 er2&| 5,700 12,700 A7,000




SN 2AEERRID
A HAZTUSHA A=(2H/2242])
el oeie 9l (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 2,700 9,700 /7,000
Oolete Pet 4ot KA
60,0003 x5& »23] 600
OBR(HERILRIISE) 2208 |ALS
50,0003 2CH* 12 1,200
O2orgia NMHedd 208 |RAE+
75,0003 *1CH =122 900
2 s5=g4l 3,000 3,000 0
Ogzl|& 88 el ===
250,000 * 1200 A 3,000
301 EetE2 NS 1,390 1,190 200
11 #AIAHIXIE S 1,390 1,190 200
OLlefae|g e =4 2tg3s =24
9,000&*508 *23] 900
OdlAds W=F F0A 2AMS
3,500& 140 490
307 elztol & 1,000 1,000
012z & 2=Hl 1,000 1,000
OdHAM= NEE OtUZ 22 72
2leiA 2289, 224 S)
2,500 45+ 100H 1,000
401 Al HIZ R 0HHI 8,000 5,000 3,000
01 AlZ28| 8,000 5,000 3,000
OSs2d2dE)| UAE & HEH A4
£ 2= 8,000,000 * 14 8,000
(R)alsHse2gx 1,990 1,990 0
Il 1,393
== 199
Al 398
201 2= 1,990 1,990 0
7l 1,393
= 199
Al 398
01 At 2|l 1,990 1,990 0
OMBHSY 29 U EPSE 7
1,990,000 *14] 1,990
Jl 1,393
= 199
Al 398
()FUXNE Ss3A=4H - J2 2LHHl X 625,110 385,110 240,000
7l 625,110
307 el2to| & 625,110 385,110 240,000
Jl 625,110

02 QIHHAANEE X 625,110 385,110 240,000
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BE: BAAZZHH PH(FA/2A0E)
el oeie 9l (Gt H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
S EEEEE S EIC RS
SAH 312,555,000 #2012 625,110
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()X QAHRA SSAI K& 110,000 104,000 6,000
| 55,000
= 16,500
Al 38,500
307 QIZt01 A 110,000 104,000 6,000
| 55,000
& 16,500
Al 38,500
05 QIZtRIErZ 110,000 104,000 6,000
OZHYYER XIS 208 29
110,000,000 14 110,000
| 55,000
& 16,500
Al 38,500
(L)HAZS =X lAY I 3,600 4,000 A400
= 1,080
Al 2,520
201 LBr23| 3,600 4,000 A400
= 1,080
Al 2,520
01 AR 22| 3,600 4,000 AA00
OHIoI%E +H B22 HX
4,800 *100H*55 2,400
& 720
Al 1,680
OH2IE £718 2
60,0002 x207H 1,200
= 360
Al 840
(D)AHIRQSIPDIZAIRSH 1,200 1,200 0
& 360
Al 840
301 LPENZ 1,200 1,200 0
& 360
Al 840
14 JIEt2 43 1,200 1,200 0
OXHIRQI 21D ZAIR” =
50,0003 x2ZF =12 1,200
= 360
Al 840
(Z)330f2ta 0= 29 K& 48,100 0 48,100
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MEE
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A g2
. BHASISHA 2F(BH/BAH2R)
ol AZPE R (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
Ogatde|dAL Hi+ Xeldl
6002 *1,5002| & 900
O1l=hl 300
—aEs 50,000& 23X 100
— AR A Ot 40,0002 x5 200
OALA, OILFEA S Jk2, AE M
a] 85,0003 23|« 123 2,040
OYAME SAHR IIEAE =2
8,000 x3H *43| %
OgrArdal &HH| & PACSAE =XIt| 24,552
— LA EHEX 7]
1,320,000& «1CH*12& 15,840
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